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* We help students attack IELTS by teaching
them how to write an essay rather than by
teaching them how to learn by rote!

* Our students outperform their peers not only

in IELTS but also in their academic endeavours
in future!
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What do you learn in our class?

 What makes a good IELTS essay?
* What to do in the exam?

* How to prepare for the exam?
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Step one: how to approach the topic?

Underline all key words of the topic

1A H AR (WS, Bk, &R, BER)

2 ACHH & 12

3N XN H X2 THE? D

4 T 451

5 & H BY5E (economic? Society? Family? Individuals?)

W A2 a5 [Aladvantages & disadvantages, B3 1]
positive or negative effect, fffi '€ A
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Do you think advantages outweigh
disadvantages? Discuss both views and give your

Why has this happened and how

Do you agree or disagree? own opinion to deal with this?

To what extent do you agree or
disagree?

Do you think it is a positive or
negative development?
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* many people today c
flat rather than buy t

noose to live in a rented
neir own home. is it a

positive or negative development?



Do you agree or disagreeEl{ & what is
your opinion
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Why is it the case? Is it a positive or negative development?
NB
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What problems does it cause? What are the solutions to
this problem?
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 ZJJ1A]+44 14 solve problems, tackle problems

» 516 +441H environmental problems,
environmental issues

o 447A]+441A] the service sector, the tourism
industry, health problems

o ZJJ1A]+E] 16 develop fast, grow rapidly

e #41A+418] demand for, attitude towards,
passion for

e JBREHIFEHC solve environmental problems,
improve the environment significantly
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ave a negative/damaging/ opposite erfect on ...
have a beneficial/positive effect on ... Have a positive/significant impact %IZ}T E}Uﬂz;b:%ﬂ

on.../ make a huge difference to / have a bearing on FiEABREA

2 It is difficult/easy/important/possible/necessary /unnecessary/ Rt is easy to ) F v R il
counterproductive for sb. to do sth.

3 pose a threat to/present a challenge to/cause damage to to +44 18, ANBENINE)FAREINBN 1A
4 Something Enable/allow/prompt/cause/require /encourage sb. to do sth.

Help somebody (to) do something ANHESE"to have”

5 Somebody lay emphasis on/ give importance to/ pay closer attention to / give  to +%1dl, ABENNHE]TAEEINB 1A
priority to something /attach importance to ...

6 Something Play a vital role in/form an important part of/hold the 1Al +44 08, ABEINE]FANEE NS
key to something 1]

7 Somebody is likely/willing/unwilling/able /reluctant to do something

8 Something has made it difficult/easy/possible for somebody to do FiE—BAH “it” 8 “this”
something

9 Something has provided somebody with opportunities to do — M hN A T R 2R P
something

10 choose/decide/fail/intend/tend/prefer to do something

11 Be important/essential/vital/valuable to somebody Be harmful/ detrimental to
12 be regarded as/ be considered to be/ be seen as

13 consider it necessary to do something/ feel the need to do
something/ find it difficult to do something



* 14 make the most of, take advantage of,
benefit from, see the advantages of

e 15resultin, lead to, cause (3J]) ,isthe
cause of .., related to, contribute to,
responsible for ....

* 16 make an effort to, take steps to, take
measures to do., take action to do, invest
time and effort in doing something..






how to link sentences and present

our idea logically?
o EHIRATE «@%ﬁé%ﬁ%» BN T g y

o FORPIIRIC RN ERE

o 1 fEHERA.

therefore, thus, asaconsequence, consequently, because of this, for this reason, as a result of this
2 i FRE A :

If/when JR[A, 455

#E8. because, since, as J5i[A]

JEIA, so 45

3 A A M A]:  this is why, this explains why, the consequence is that, this means that 45 %

4 Srial e i A AT LL, HENOCE H

5 LK and 45

HoAth— 3% 2 1m] H24 HAh DI RE -

F%1|: apart from this, in addition to this, besides, furthermore, also
Another problem/reason/benefit/advantage/ disadvantage is that ...
¥:47: onthe other hand, however, nevertheless
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#1+: many people live in poverty. This
problem can be a threat to social stability.

40 w7 T A 44 18] 1) 2 R A
), RBRIFENFEMN, i theset....

AT IR E R, A4 E Hthey,
B & these+ ....

ER: WRATEA N ANRRE, A
HANBEHI They, BRIy AEBLX

%l-F: many people live in poverty and
cannot find employment. These
problems can be a threat to social stability.

f5-¥: many young people today choose
to study overseas. They (these young
adults) can expand their horizons by
these opportunities.

f5-F-: Parents can read stories for
children before bedtime. This is a
pleasurable experience for them ({514
TEIE).

&% : Parents may gain considerable
pleasure when they read stories for

children before time.
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3 A — e 20 4
Make somebody do something

Lead to/result in /cause+ £]
Something is important/useful/helpful to do something
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 Therefore, as a result, hence, for example, in
contrast, ...



how to increase the variety of

sentence structures?
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1. EMAZEEE OR8] DUAPRIE AT, a2 R BPIRTE A (because)

2. WRZREAFFIERK, B HI A EINEEZ T EE, XA Et T DLARE
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3. R Eaa) B I FOIRTE (by+ doing something) , AT PUME & MARIENA] G

4. HAWRIEMNAJEARE R, B A RAE N WERBANESS A, s
AT PEIMA A, IXI R TE W) AL

5. FHAWRREENRRFE, FEWRER, —MEF ARG FERNALL
B2/ PR S A

6. ¥ & MNAIE LR E N, AR s, B

7. RN TEINATFRAR L, BRATAT BLRVEALE A 1R B3 B JE N B Blwhir] 5] 51 44 18] 94 A A)

8. ML A 4], 2 UNicountry, school, area, region, city, environmentZs, {141 nA]
LLEwhere 5| 5 1€ 1 A
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1 HES#H children, students, the next

generation
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2 H4XiA] these children, they
3 2% 1A] young children, disruptive children,

children from poor homes
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Proofreading

B%A BB OCE R (task response)
A AR A I S (task response )
BHRMERAEEIFR (task response)

B V% 1) B2 1A

H)F8)E A1 28 A4 (Cohesion & coherence)
BARAEENEE (TR& €O

A %A 1 FHHABC (Cohesion & coherence )
ERaAE AR A M MR ( Cohesion & coherence )

fAEREE R CEFEFEME. 18188 AR
6§J\EI"Jﬁ%%?ﬁi%%%iﬂﬁ%‘@ﬁﬁ, WHH) A RF 52 % (grammatical range
& accuracy
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